
6011 6011.5 6012 6012.5 6013
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

6343

6343.5

6344

6344.5

6345

6345.5

6346

6346.5

6347

ru
n

run:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6345}



6011 6011.5 6012 6012.5 6013
cyclenum

112−

111.5−

111−

110.5−

110−

us
l_

1X

usl_1X:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

2−

1.5−

1−

0.5−

0

us
l_

4a
Y

usl_4aY:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

58.2

58.4

58.6

58.8

59

59.2

59.4

59.6

59.8

60

60.2

60.4

us
l_

4e
X

usl_4eX:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

22.5

23

23.5

24

24.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

44−

43.5−

43−

42.5−

42−

us
l_

12
X

usl_12X:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

6343

6343.5

6344

6344.5

6345

6345.5

6346

6346.5

6347

ru
n

run:cyclenum {run == 6345}



6011 6011.5 6012 6012.5 6013
cyclenum

176−

175.5−

175−

174.5−

174−us
r_

1X

usr_1X:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

1

1.5

2

2.5

3

us
r_

4a
Y

usr_4aY:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

244.5

245

245.5

246

246.5

us
r_

4e
X

usr_4eX:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

14.5

15

15.5

16

16.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

48.5−

48−

47.5−

47−

46.5−u
sr

_1
2X

usr_12X:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

6343

6343.5

6344

6344.5

6345

6345.5

6346

6346.5

6347

ru
n

run:cyclenum {run == 6345}



6011 6011.5 6012 6012.5 6013
cyclenum

31026

31026.2

31026.4

31026.6

31026.8

31027

31027.2

31027.4

31027.6

31027.8

31028

31028.2

us
l_

co
il1

usl_coil1:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

6037.5

6038

6038.5

6039

6039.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

4275.6

4275.8

4276

4276.2

4276.4

4276.6

4276.8

4277

4277.2

4277.4

4277.6

4277.8

us
l_

co
il4

usl_coil4:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

1225−

1224.5−

1224−

1223.5−

1223−us
l_

co
il6

usl_coil6:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

17510.6

17510.8

17511

17511.2

17511.4

17511.6

17511.8

17512

17512.2

17512.4

17512.6

17512.8

us
l_

co
il7

usl_coil7:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

6343

6343.5

6344

6344.5

6345

6345.5

6346

6346.5

6347

ru
n

run:cyclenum {run == 6345}



6011 6011.5 6012 6012.5 6013
cyclenum

27881−

27880.5−

27880−

27879.5−

27879−

us
r_

co
il1

usr_coil1:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

5693.4−

5693.2−

5693−

5692.8−

5692.6−

5692.4−

5692.2−

5692−

5691.8−

5691.6−

5691.4−

5691.2−

us
r_

co
il3

usr_coil3:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

4333.5

4334

4334.5

4335

4335.5

us
r_

co
il4

usr_coil4:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

826.5−

826−

825.5−

825−

824.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

22373.6

22373.8

22374

22374.2

22374.4

22374.6

22374.8

22375

22375.2

22375.4

22375.6

22375.8

us
r_

co
il7

usr_coil7:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

6343

6343.5

6344

6344.5

6345

6345.5

6346

6346.5

6347

ru
n

run:cyclenum {run == 6345}



6011 6011.5 6012 6012.5 6013
cyclenum

441−

440.5−

440−

439.5−

439−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

71−

70.5−

70−

69.5−

69−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

23

23.2

23.4

23.6

23.8

24

24.2

24.4

24.6

24.8

25

25.2

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

473−

472.5−

472−

471.5−

471−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

89.5−

89−

88.5−

88−

87.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

23.5

24

24.5

25

25.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6345}



6011 6011.5 6012 6012.5 6013
cyclenum

172.6

172.8

173

173.2

173.4

173.6

173.8

174

174.2

174.4

174.6

174.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

35.6

35.8

36

36.2

36.4

36.6

36.8

37

37.2

37.4

37.6

37.8

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

7.5−

7−

6.5−

6−

5.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

183

183.5

184

184.5

185

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

27−

26.5−

26−

25.5−

25−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

5−

4.5−

4−

3.5−

3−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6345}



6011 6011.5 6012 6012.5 6013
cyclenum

231.5−

231−

230.5−

230−

229.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

80−

79.5−

79−

78.5−

78−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

1−

0.5−

0

0.5

1

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

4.5

5

5.5

6

6.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

437.5−

437−

436.5−

436−

435.5−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6345}

6011 6011.5 6012 6012.5 6013
cyclenum

6343

6343.5

6344

6344.5

6345

6345.5

6346

6346.5

6347

ru
n

run:cyclenum {run == 6345}
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